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® (1) 3.4 (2) 295 @ (1) 0.34 (2) 2.95
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(1) 0.35 = 0.01 o] [ 74012, 0.11 € 0.01 o] [ A ek
(2) 0.35 +0.11 2 DutdU 712

@ (1) 3.5,1.1 (2) 0.46 @ (1) 35,11 (2) 0.46
@ (1) 35,1.1 (2) 0.46 @ (1) 35,11 (2) 0.46

® (1) 350,110 (2) 0.46
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(1) 0.78 = 0.17

(2) 0.48 - 0.23

@ (1) 0.59 (2) 0.225

® (1) 0.61 (2) 0.25

@ (1) 0.6 (2) 0.25
® (1) 0.62 (2) 0.35

@ (1) 0.61 (2) 0.35
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@ 1132m = 11.32km @ 54.1kg = 54100¢g
® 3km 90m = 3.9km @ 1.13kg=113g

® 17.02cm = 1702 mm
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@® 1.007 + 2.06 @ 0.936 + 2.87 ® 3.02+0.98
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(1) 35-1.23 (2) 4.235 - 2.75

@ (1) 1. 22 (2) 1.48 @ (1) 1. 27 (2) 1.485
® (1) 2. 22 (2) 1.482 @ (1) 2. 27(2) 1.485

® (1) 2. 27 (2) 1.487



14. ta2 HEA AN AS AEAQ.

(1) 6.871 4 3.95
(2) 41.26 — 9.872

@ (1) 10.711 (2) 31.378 @ (1) 10.721 (2) 31.388
® (1) 10.811 (2) 31.378 @ (1) 10.821 (2) 31.388

® (1) 10.911 (2) 31.378
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